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of o 40c 195 19.5 185 18.5 0.95
=< 50CH 210 21.0 195 19.5 0.93
60CH 173 17.3 164 16.4 0.95

70CH+ 130 13.0 135 13.5 1.04

N 197 19.7 187 18.7 0.95
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CHH/MS/EES 102 10.2 107 10.7 1.05

= /S 82 8.2 96 9.6 1.17
/8= 101 10.1 98 9.8 0.97
SLE4L/EE 145 14.5 151 15.1 1.04

2l /A|F 39 3.9 44 4.4 1.13
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AOf| CH3H O A B sy 77t?

ZA2tE | 712 4AE | OfR Cia Cia 0f < = | o = || 2o
(Atedl) | (A=) et sk | ARs | &es | 21 =7 AT
A A 1,000 1,000 21.6 14.1 8.4 51.8 4.1 35.7 60.2
A e == 517 497 18.7 14.8 8.6 54.2 3.7 335 | 62.8
= o o 483 503 24 .4 13.5 8.1 495 4.5 378 | 57.6
18/20CH 144 170 17.8 16.6 8.0 50.7 6.9 344 | 587
30¢cH 148 151 20.8 5.7 7.6 61.4 4.5 265 | 69.0
of 2 40CH 195 185 15.9 11.2 6.5 66.4 0.0 27.1 72.9
= 50CH 210 195 19.5 10.5 7.6 58.2 43 30.0 | 65.7
60CH 173 164 28.1 17.9 8.2 411 4.7 46.1 49.2
70CH+ 130 135 30.0 | 25.1 13.8 | 26.4 4.8 55.1 40.2
18/20CH 84 89 166 | 22.7 9.1 449 6.7 393 54.0
30¢cH 83 78 18.2 49 9.5 62.6 4.8 23.1 72.1
LA 40CH 100 94 13.1 13.0 4.9 69.0 0.0 26.1 73.9
c 50CH 107 99 14.8 6.6 8.4 65.6 4.6 214 | 739
60CH 85 81 23.3 15.3 8.4 48.2 4.9 38.6 56.5
70CH+ 58 56 32.7 32.8 13.8 | 20.7 0.0 655 | 345
18/20CH 60 81 19.0 10.0 6.8 57.1 7.1 290 | 639
30cy 65 73 23.7 6.4 5.6 60.0 43 30.1 65.6
of A 40CH 95 91 18.8 9.4 8.2 63.7 0.0 28.2 71.8
50CH 103 96 243 14.5 6.8 50.5 3.9 38.8 | 57.3
60cH 88 83 329 | 205 7.9 34.1 4.6 53.3 | 421
70CH+ 72 79 28.1 19.6 13.8 | 304 8.1 477 | 44.2
M2 197 187 24.8 13.6 11.6 46.8 3.1 38.4 58.5
B2/ 334 317 18.8 9.9 7.6 59.1 4.6 28.7 66.7
/M S /2= 102 107 19.3 18.0 9.8 492 3.7 37.2 59.0
A 9 YR/HLYE 82 96 13.3 9.8 5.0 65.2 6.7 23.1 70.2
/85 101 98 28.2 25.7 3.1 40.1 3.0 53.9 | 431
A28y 145 151 23.1 16.2 11.8 | 47.0 1.8 39.3 58.8
ZR/AHF 39 44 31.8 13.6 4.5 39.8 10.2 455 | 443
SESTUY 45 46 16.4 24.5 12.6 422 43 40.9 54.8
AI Y 226 220 27.9 14.6 6.5 50.1 0.9 425 56.6
=2zt 158 157 17.3 14.0 6.7 55.3 6.7 31.3 62.0
2 A 3l0|EZte} 255 246 15.9 11.0 8.3 61.9 2.9 269 | 70.2
HexHE 141 145 34.1 16.1 13.6 | 326 3.7 50.2 | 46.1
st 70 77 15.5 13.1 7.9 55.4 8.2 286 | 63.2
7|EH22 105 108 17.6 14.0 6.4 54.7 7.3 316 | 61.1
SE Olst 61 63 26.7 248 8.4 354 4.7 515 | 438
st 272 267 23.1 17.4 9.8 44.0 5.6 40.5 53.8
st o 2~3A| chst 180 180 22.4 12.8 7.6 52.1 5.1 35.2 59.7
A CHSt 387 389 17.9 11.5 8.5 58.7 3.3 294 | 67.2
CHSHRY Of At 100 102 26.9 11.3 5.6 55.2 1.0 38.2 60.8
A+S A 210 215 24.0 18.6 8.2 47 .3 1.9 42.6 55.5
= 358 351 19.2 13.5 8.9 55.0 3.4 326 | 639
M 2 |E5t 286 286 22.5 11.9 9.2 51.7 47 343 61.0
3t 123 121 23.8 14.8 5.6 49.6 6.3 38.5 55.1
Zes 23 27
ERES 333 334 40.8 | 219 9.9 25.5 1.9 62.7 35.5
2|2 Ayst 2 c 356 355 17.0 14.3 8.3 55.4 5.0 31.3 63.6
28 258 257 5.9 2.9 6.8 81.6 2.7 8.9 88.5
o= 53 54 7.0 17.8 7.1 49 4 188 248 | 565
O|2HH 410 408 2.1 1.9 8.9 84.6 2.4 4.0 93.5
ZutgM [ESE 485 483 39.2 | 257 | 79 | 242 | 29 649 | 32.1
22 5w |8 31 34 231 | 131 | 82 | 526 | 3.0 362 | 608
v J|Et &8 23 24
AS/IRE 51 51 13.1 9.5 10.9 446 21.9 22.7 55.5
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A A 1,000 1,000 17.1 20.6 14.7 14 6.2 37.7 56.1
A e = 517 497 14.8 20.1 15.6 447 4.8 34.8 60.4
= o4 483 503 19.4 21.1 13.8 38.1 7.7 40.5 51.9
18/20CH 144 170 15.1 23.0 13.5 38.7 9.6 38.1 52.3
30CH 148 151 19.7 12.9 93 51.2 7.0 32.6 60.5
of 2 40C 195 185 14.9 13.2 11.5 56.3 4.1 28.1 67.8
= 50CH 210 195 13.4 19.0 19.1 442 43 32.4 63.3
60CH 173 164 19.9 28.4 16.7 30.3 4.7 484 | 469
70CH+ 130 135 21.7 28.9 18.0 22.8 8.7 50.6 40.8
18/20C§ 84 89 16.6 29.2 16.9 31.6 5.7 458 | 485
30CH 83 78 18.4 10.9 12.9 495 8.3 29.3 62.4
ChAd 40CH 100 94 13.1 10.0 12.8 61.2 3.0 23.1 73.9
© 50CH 107 99 6.5 16.8 20.7 53.3 2.8 23.3 74.0
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24248 145 151 17.7 21.6 20.2 36.1 4.4 39.3 56.3
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=222t 158 157 13.7 23.3 14.0 459 3.1 37.0 59.9
2 A Slo|EZet 255 246 12.8 15.6 13.0 53.0 5.6 28.4 66.0
HAZE 141 145 30.9 22.1 20.1 20.1 6.7 53.0 40.3
st M 70 77 14.4 19.4 14.9 39.5 11.7 33.8 54.5
7|E/2A 105 108 15.8 15.8 14,1 42.6 11.7 31.6 56.7
== 0|5t 61 63 17.8 33.8 20.1 25.2 3.1 51.7 453
1sstu 272 267 17.5 24.6 18.8 32.6 6.5 421 51.4
st & 2~34EA| st 180 180 14.2 20.4 124 | 468 6.1 34.7 59.2
4HA| Cyst 387 389 15.5 17.2 14.0 46.0 7.3 32.7 60.0
CHaHel Ol 100 102 27.0 14.9 75 47.2 3.5 41.9 54.7
A+ A 210 215 225 24.0 13.0 36.4 41 46.6 49 4
= 358 351 12.6 20.1 18.3 431 5.8 32.8 61.4
AMH 2 [E5] 286 286 17.9 20.8 12.9 413 7.0 38.8 543
5t 123 121 19.9 15.7 13.2 435 7.6 35.6 56.8
2p2 23 27
ERES 333 334 325 31.2 10.5 20.4 5.4 63.7 30.9
22| A5 2 g 356 355 141 20.4 17.2 426 5.7 345 59.8
e es 22 258 257 4.1 5.6 174 | 672 5.7 9.7 84.6
2 o= 53 54 34 26.9 12.1 40.2 17.4 30.3 52.3
O|AH 410 408 1.7 4.6 17.4 69.7 6.6 6.3 87.2
2| Lt CiAd =4 485 483 309 35.3 12.6 17.1 4.1 66.2 29.7
2z 58 288 31 34 187 | 175 | 140 | 443 | 55 362 | 583
o J|EtEE 23 24
gle/ne 51 51 11.4 16.6 14.5 431 14.4 28.0 57.6
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ZAE | 7IBUHE | 1=l otz n o I T = 5=
A A 1,000 1,000 229] 2041120 59 40 [297] 51 348
e Cle 517 497 285[201 116 59 [ 27 | 263] 48 312
c = o o 483 503 1741207124 59 | 53 |33.1] 53 384
18/20CH 144 170 338[ 168141 46 | 12 [255] 40 295
30CH 148 151 2171 200]| 68 | 52 | 53 [|364| 47 41.0
of 2 40CH 195 185 198|173 106]| 56 | 20 [ 406 | 41 447
= < 50c 210 195 25212101 104] 57 | 33 291 53 344
60CH 173 164 1731232 144] 80 | 58 | 254 58 31.2
70CH+ 130 135 18312541164 64 | 75 1188| 7.3 261
18/20CH 84 89 47011121134 34 ] 23 [194] 33 227
30cH 83 78 326158108 48 | 25 | 312 24 335
b Ad 40cy 100 94 260|208 79| 51 | 00 [ 351 5.0 401
= < 50CH 107 99 2791 198| 83 | 46 | 47 | 309 3.8 347
60CH 85 81 1521259188 82 | 1.2 | 235 72 307
70CH+ 58 56 176131211181 122] 65 [119] 88 207
18/20CH 60 81 1922281150 60 [ 00 [ 323 47 369
30CH 65 73 100246 25 | 56 | 82 | 420 7.1 491
of A 40CH 95 91 1341137134 62 | 40 | 462 3.1 493
© 50c 103 96 224122311251 69 | 19 | 272 68 340
60CH 88 83 193206102 79 | 102|273 44 317
70CH+ 72 79 18812131196 231 81 |1237] 62 299
M2 197 187 23412271118 40 ] 50 [ 269 6.1 33.0
A71/21A 334 317 2001841127 73 | 23 [350] 43 393
CHH/MS/EEHS 102 107 2121194135 3.7 | 46 |307| 69 376
e = AZ/HHE 82 96 1941188 65| 41| 98 | 342 73 415
/8= 101 98 20711771 147] 69 | 49 | 210| 5.0 26.0
EAYZAYHE 145 151 28112191135 63 | 20 | 238 44 282
2R /AF 39 44 2051318 45 [102] 23 [ 307] 00 307
Y 2 5t 354 357 1721306239114 68 69 [ 3.1 101
Taomy [E2E 606 602 254 | 144 51 | 27 | 21 [ 441] 63 504
e DE/7|Et 40 41 36212031 89 | 59 [ 69 |170] 47 217
S 45 46 213]220[101] 84 20 [297] 65 36.1
A A 226 220 196207182 48 | 41 | 265]| 62 327
==Zet 158 157 2211204 74 | 75| 86 | 304 | 36 340
2 A SHO|EZfe} 255 246 2481192 85| 58 | 1.1 |351]| 54 405
HeAzE 141 145 17912411180 7.7 | 46 | 248 29 277
St A 70 77 37511111 105] 44| 26 [ 265 73 339
7|EHS A 105 108 2351236 79| 36 | 43 [ 319 52 371
== 0|5t 61 63 2171230120 62 | 101194 77 27.0
k=Sl 272 267 169|212 165] 65| 49 [ 280 6.0 34.0
st & 2~342| ojjst 180 180 2291136 165| 83 | 49 [ 313 25 338
4| st 387 389 286|200 82 | 45| 1.7 | 314 56 37.0
CHSH o4 100 102 1771304 67 | 54| 47 [313] 38 352
S 210 215 288 235[11.7[ 53] 48 [21.1] 48 259
= 358 357 1911191148 56 | 29 | 349]| 3.7 386
AXH 22 |ZE5] 286 286 220|225 101] 6.1 | 50 | 286 5.7 343
5t 123 121 229]145]109| 79 | 3.1 |335| 70 405

o2 23 27
ERES 333 334 27412311193 83 [ 47 [136] 36 172
2|2 A5t B 356 355 2421232 85| 53| 24 | 326]| 3.7 364
et es 208 258 257 1611131 87 | 33 | 49 | 453] 86 539
Q2 53 54 1871204 52 1 721 54 [362] 69 432
RE 410 408 201145 59 30 311467 67 534
2|t T M =AM E 485 483 261267 | 17.7] 82 45 |1 135 35 17.0
22 5p  |[8dE 31 34 233]185| 6.1 | 54 [ 11.0[329] 28 357

T J|Ef & 23 24
oe/zE 51 51 1701169 105] 69 | 19 [ 374] 93 467
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=z =22t 2 He
e | T=aNS o | wen | wre | Ze| ¢ 2 ey |2en | g s |28 A2
d A 1,000 1,000 |386|156| 88 | 40 | 29 | 1.6 | 13 | 199 | 73 272
Mo e d 517 497 386 | 18.0 | 101 | 25 | 23 | 2.6 | 1.2 | 185 | 6.2 247
° - o ¥ 483 503 386 | 133 | 75 | 55 | 34 | 06 | 15 [ 213 | 83 297
18/20CH 144 170 374 | 79 | 133 ] 0.0 | 44 | 06 | 27 | 243 | 94 337
30cH 148 151 39.0 | 114|160 | 27 | 1.2 | 1.8 | 00 | 234 | 45 278
o 2 40ch 195 185 50.6 | 10.2 | 108 | 25 | 25 | 2.0 | 1.0 | 147 | 56 203
- ° 50CH 210 195 46.1 1196 | 38 | 52 [ 1.0 | 24 [ 05 | 171 | 42 214
60cH 173 164 305|234 | 36 | 63 | 47 | 1.7 | 1.1 ] 189 | 9.7 286
70cH+ 130 135 224 1224|157 | 78 | 38 | 07 | 28 [ 230 | 11.5 344
18/20CH 84 89 304 | 114 [ 113] 00 | 33 | 1.2 | 22 [31.1] 89 40.1
30cH 83 78 382 | 132|182 | 1.2 | 1.2 | 3.6 | 00 | 209 | 36 245
LA 40cH 100 94 509 | 9.0 | 142 | 19 | 30 | 29 | 00 | 140 | 40 180
- c 50CH 107 99 47.6 | 225| 56 | 28 | 09 | 37 | 1.0 [ 121 ] 3.7 1538
60cH 85 81 352|250 | 37 | 35 | 36 | 23 | 23 ]| 162 | 81 243
70cH+ 58 56 207 {325 69 | 70 | 17 | 1.7 | 18 | 173 [ 10.6 2738
18/20CH 60 81 45.1 ] 41 [ 154 ] 00 | 56 | 00 | 33 [ 168 | 9.8 26.6
30cH 65 73 398 | 93 | 138| 44 | 12 | 0.0 | 00 | 261 | 54 315
o A 40ch 95 91 503 [ 11.5] 7.2 | 3.1 | 20 | 1.0 | 2.1 | 155 | 7.2 227
° 50CH 103 96 4451167 | 20 | 77 | 1.0 | 1.0 | 0.0 | 223 | 48 27.1
60cH 88 83 260|218 34 | 91 | 57 | 1.2 | 00 | 216 [ 11.2 328
70CH+ 72 79 236 | 153 | 49 | 83 | 54 | 0.0 | 36 | 270 [ 12.1 _39.1
M= 197 187 382 | 16.1 | 82 | 3.0 | 46 | 25 | 1.1 [ 238 | 25 263
871/ 334 317 485 | 113 | 62 | 47 [ 21 | 1.2 | 15 | 158 | 87 245
L/ME/ 25 102 107 334 | 135|100 | 56 | 18 | 43 | 24 | 192 | 9.7 289
H 9 /s 82 96 282 | 17.9| 188 | 1.0 | 45 | 09 [ 21 | 210 | 56 266
A 101 98 289|198 [10.0| 3.8 [ 1.0 | 0.0 [ 0.0 | 245 | 11.9 364
228 145 151 372 | 183 | 74 | 51 | 41 | 1.3 | 06 | 181 | 7.8 259
JAAZ 39 44 307 1273 68 | 23 | 00| 00 | 23 [284| 23 307
PR — % Gl 354 357 76 | 268 | 48 | 66 | 41 | 21 | 1.8 [ 359 ] 102 46.1
zomy [EXE 606 602 579 95 | 110| 25| 22 | 1.2 | 08 | 97 | 52 149
e 2E/7(Et 40 41 262 | 94 | 97 | 23 | 24 | 22 | 49 |310[ 119 _429
sY=HUY 45 46 3191327 | 65 | 85 | 00 | 40 | 00 | 123 | 42 165
A 226 220 403 | 195| 51 | 43 | 43 | 21 | 09 | 153 | 83 236
=52 158 157 39.2 | 154 | 113 ] 6.0 | 30 | 1.2 | 1.2 | 172 | 55 227
3 o sto|EZtet 255 246 446 1 129 [ 101 | 1.1 | 08 | 16 | 1.6 | 214 | 59 272
Y2 141 145 353|130 33 | 79 | 42 | 13 | 13 ]|253| 83 336
st 70 77 37.7 | 1.8 128 | 0.0 | 56 | 0.0 | 13 | 229 | 78 307
7|EH/2 2 105 108 2871134 1149] 26 | 18 | 1.7 | 24 | 240 | 104 345
SZ 0|5} 61 63 255 | 211 76 | 74 [ 113 ] 1.5 | 1.5 | 125 [ 11.6 24.1
st 272 267 348 1194 | 41 | 65 | 38 | 28 | 1.8 | 206 | 63 269
st 2~3EA] o5t 180 180 40.6 | 141 | 7.8 | 47 | 37 | 05 | 0.6 | 212 | 69 28.1
4 Cyst 387 389 416 | 135|116 | 1.7 | 07 | 1.7 | 09 | 208 | 7.4 282
CHetH Ol 100 102 418 | 135[ 128 29 [ 19 | 00 | 29 | 168 | 75 243
$+3Y 210 215 353 (168 | 81 | 44 | 19 | 3.1 | 09 [ 199 96 295
s 358 351 395|188 99 | 45 | 1.7 | 1.0 | 1.8 | 188 | 39 227
BHH 2 |S5 286 286 420 110 82 | 41 | 35| 16 | 1.0 [ 199 | 88 286
3t 123 121 328|166 | 39 | 23 | 74 | 0.8 | 08 | 27.0 | 85 354
222 23 27
B & 333 334 228 237 | 47 | 45 | 36 | 28 | 1.1 | 285 | 83 367
TR = 356 355 378|161 | 91 | 48 | 26 | 1.9 | 14 | 206 | 58 264
N 258 257 604 | 74 | 143 | 2.6 | 1.8 | 0.0 | 0.7 | 45 | 81 126
22 53 54 384 | 1.7 | 54 | 1.7 | 52 | 0.0 | 48 [ 359 | 68 427
0|24 410 408 652 | 65 [ 129 ] 25 | 23 | 09 [ 1.1 ]| 42 | 42 84
Aucps [EHE 485 483 182 | 230 | 56 | 57 | 33 | 21 | 1.4 [31.8]| 89 407
2z 5p |2 31 34 3221 220| 60 | 54 | 28 | 27 | 30 | 143 [ 116 259
et =& 23 24
AS/28 51 51 246 1172 78 | 0.0 | 45 | 1.7 | 00 | 313 [ 12.7 _44.1
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(2E[0]4)

AR | 7ISUHE | EZ MO FHS FY o|=0f = 2275
(At | (Ak2ll=) 5t7| 918 H=|52to|ct Jost Ao\t =

2 | 1,000 1,000 452 436 11.2
A Cl- 517 497 53.3 38.6 8.1
c = o A 483 503 37.1 48.6 14.4
18/20CH 144 170 456 445 10.0
30cH 148 151 475 40.3 12.2
of 2 40CH 195 185 497 433 7.0
- ° 50C 210 195 50.5 40.8 8.7
60CH 173 164 38.7 48.6 12.8
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